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AN dot=SAFE A
My Nz
ol BOUANYALTO HHE BZ(HETSBIMH) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 4,500 4,500 0
OM=CAMIZXS(3YRL) 300,000 x5H 33| 4,500
05 SR WU 1,750 1,750 0
ON4ELR BAX ASLDS OfH|
350,000 x5 x13] 1,750
206 = Hl 2,577,120 2,527,560 49,560
01 MHZ 4l 2,577,120 2,527,560 49,560
Ox=x=- Yl 413& 520,000 <128 2,577,120
308 AHAIEHHSOIA 729,600 700,800 28,800
1MIJIEtRES 729,600 700,800 28,800
os0s2g3 160& 380,000+ 12& 729,600
403 MtXISHHE A0l & 3,888,173 3,057,995 830,178
02 S 2SOHHEH A2 X HE Ar H 3,888,173 3,057,995 830,178
OXNgE=EEH2YE =28 A= 3,888,173
0ol Bl 8l 90,543 120,000 A 29,457
801 GilBI8l 90,543 120,000 A 29,457
01 Btoildidl 90,543 120,000 A 29,457
© gl bl 90,543
B™2YAY 42,950 39,765 3,185
HA2IEH(Aot+=E MM (4= EEFH) 42,950 39,765 3,185
aaES 42 olAY| 42,950 39,765 3,185
101 @124l 42,950 39,765 3,185
03 RIAHAAZZ2HE > 42,950 39,765 3,185
a2 0124Y| 42,950
oJle= 1,778,670 x 1+ 12& 21,345
Od0= 2,063,670& 4= | 8,255
OusE x| 200,000 x1H =123 2,400
ONEs=E 80,000& x1H » 12 960
OZFEFItHI 1,778,670& x0.6+2 2,135
Ogltresr< 80,0003 »1&H +25& 2,000
(OEIPNF= 262,080& 4= | 1,049
O=H=RE= 38,144,000& *4.5% 1,717
OHZBEZRES 38,144,000& *2.9% 1,107
OkoYEdRg3a 1,107,000& 6. 55% 73
CLEZEZRES 38,144,000& x1.5% 573
OdMMEE = 38, 144,000& *3.5% 1,336




